Best model for HELP J160728.837+543111.947 at z = 1.694 x2=3.44
OPTx2=3.52 IRx?=4.35 threshold (OPT IR)=21.55 [um]

102 E . Stellar attenuated
E T £ Stellar unattenuated
] : m —— Dust emission
101 E —— AGN emission
3 : [N = Model spectrum
] : ® Model fluxes
109 4 : M Observed fluxes
5 :
- _1 -
£ 107" 5
= : Wr"‘f‘"’“m [ ]
é 10_2 -".v;'-"?\,-w,,,..,_._“ N .
b S
10—3 4
1074 4 4
X
=
a01
© 1 =f= (Obs-Mod)/Obs
3 ]
o ] 4
b ]
] O - - —— —— —— - — — e —— i ———
bt ]
) ]
2 ]
5 ]
© -1 T T T T
& 100 10! 102 103

Observed wavelength [um]

~  CIGALE



